
Trosa BS

2023-10-11  DM kval Trosa - 1:1 IAF
6 bord, 12 par. Antal brickor: 12. IMP över fältet.

Plac Par Poäng Namn Lag

1 2 4,38 Örjan Svensson - Erland Sommarskog Gnesta Örjan
2 301 3,75 Bruno Åstrand - Uno Karlsson Kube Kent
3 1 3,02 Kent Wäppling - Else-Marie Wäppling Kube Kent
4 302 2,33 Christer Öhman - Gunhild Heinlo Gnesta Örjan
5 303 1,27 Mats Gernandt - Willy Andersson Bengt

6 203 0,05 Agneta Fröberg - Gunilla Ehlin Agneta
7 3 -0,05 Carl-Olof Wejdmark - Bengt Hallgren Bengt
8 103 -1,27 Per-Olov Viterstedt - Margareta Viterstedt Agneta
9 102 -2,33 Sture Nordlinder - Leif Eliasson Mats

10 201 -3,02 Svante Wångberg - May Lindberg Världens Ände Else-Maj

11 101 -3,75 Birgitta Kempe - Else-Maj Sigfridsson Världens Ände Else-Maj
12 202 -4,38 Mats Ersson - Ingvar Malm Mats



Trosa BS

2023-10-11  DM kval Trosa - 1:1 IAF
6 bord, 12 par. Antal brickor: 12. IMP över fältet.

Bord Par Kontr Ut Resultat Poäng

 1

 D108643
 E
 kn10
 EKD2

 ---
 K10982
 D9843
 965

 Ekn2
 D74
 EK765
 108

 K975
 kn653
 2
 kn743

         N
 NS
 Ö
 V

 2  3  7  1  1
 9  10  6  12  11
 10  :  :  :  :

 6   Ö -980

A 1 1 201 3 V +2 8 -200 44 -44
A 2 2 202 5x N -4 E -800 -32 32
A 3 3 203 5 V = 2 -450 13 -13
B 1 101 301 6 V = 5 -980 -51 51
B 2 102 302 4 V +2 8 -480 9 -9
B 3 103 303 4 V = 10 -420 17 -17

Bord Par Kontr Ut Resultat Poäng

 2

 D42
 1085
 E93
 Dkn105

 kn753
 KD7
 85
 7642

 E9
 9632
 KD106
 E98

 K1086
 Ekn4
 kn742
 K3

         N
 NS
 Ö
 V

 5  5  5  7  5
 8  8  7  6  8
 :  :  :  5  :

 2N Ö -120

A 1 1 201 1N V +1 5 -120 -10 10
A 2 2 202 1N V +1 3 -120 -10 10
A 3 3 203 1N V -1 K 50       20 -20
B 1 101 301 1N V +1 2 -120 -10 10
B 2 102 302 3N V -1 3 50       20 -20
B 3 103 303 1N V +1 3 -120 -10 10

Bord Par Kontr Ut Resultat Poäng

 3

 EKkn2
 kn985
 93
 E96

 D1086
 ED
 D4
 Dkn532

 53
 K732
 E10852
 K8

 974
 1064
 Kkn76
 1074

         N
 N
 S
 ÖV

 6  4  3  5  5
 :  :  :  4  :
 7  9  10  8  8

 4   V -620

A 1 1 201 3 V -1 D 100       29 -29
A 2 2 202 2 N -1 3 -50 9 -9
A 3 3 203 4 V -1 D 100       29 -29
B 1 101 301 4 V = D -620 -55 55
B 2 102 302 1N Ö +2 4 -150 -4 4
B 3 103 303 3 V +1 2 -170 -8 8

Bord Par Kontr Ut Resultat Poäng

 4

 KD9
 642
 32
 K9753

 87643
 D103
 kn4
 D64

 E
 EKkn87
 KD1095
 102

 kn1052
 95
 E876
 Ekn8

         N
 NS
 ÖV

 3  2  2  6  2
 10  11  10  7  10

 4N V -630

A 1 1 201 5N V -2 4 200       60 -60
A 2 2 202 1 Ö +3 9 -130 34 -34
A 3 3 203 4 Ö +1 kn -650 -26 26
B 1 101 301 4 Ö +1 2 -650 -26 26
B 2 102 302 4 V = 2 -620 -21 21
B 3 103 303 4 Ö = kn -620 -21 21



Trosa BS

2023-10-11  DM kval Trosa - 1:1 IAF
6 bord, 12 par. Antal brickor: 12. IMP över fältet.

Bord Par Kontr Ut Resultat Poäng

 5

 5
 D109762
 K985
 D10

 kn976
 K83
 Dkn4
 862

 D43
 Ekn54
 73
 E543

 EK1082
 ---
 E1062
 Kkn97

         N
 N
 S
 Ö
 V

 8  7  3  10  4
 7  :  :  :  5
 5  5  10  3  8
 :  :  :  :  6

 5  x Ö 100

A 1 1 201 3 S +1 7 170       0 0
A 2 2 202 4 S = 10 620       53 -53
A 3 3 203 4 S -1 5 -100 -37 37
B 1 101 301 2 S +2 7 170       0 0
B 2 102 302 3 S +1 5 170       0 0
B 3 103 303 4 V -1 6 50       -16 16

Bord Par Kontr Ut Resultat Poäng

 6

 K10863
 kn65
 D963
 10

 ED94
 E1093
 K8
 D98

 75
 KD8742
 7
 K742

 kn2
 ---
 Ekn10542
 Ekn653

         N
 NS
 ÖV

 12  12  7  9  12
 1  1  5  3  1

 6N S 990

A 1 1 201 4N N = K 430       18 -18
A 2 2 202 3N S = 8 400       14 -14
A 3 3 203 3N S = 8 400       14 -14
B 1 101 301 3N N +3 2 490       27 -27
B 2 102 302 3N N -2 K -100 -50 50
B 3 103 303 4 S = 10 130       -23 23

Bord Par Kontr Ut Resultat Poäng

 7

 74
 10972
 EKDkn6
 K8

 KD952
 Kkn4
 4
 E632

 8
 ED8653
 7
 D10974

 Ekn1063
 ---
 1098532
 kn5

         N
 N
 S
 ÖV

 3  7  2  9  6
 :  :  1  :  3
 8  6  11  3  7

 5  x S -500

A 1 1 201 5x Ö -1 E 200       27 -27
A 2 2 202 3 S = E 140       21 -21
A 3 3 203 4 S +1 E 650       64 -64
B 1 101 301 4 Ö = E -620 -50 50
B 2 102 302 4 Ö = 5 -620 -50 50
B 3 103 303 4 N -2 7 -200 -12 12

Bord Par Kontr Ut Resultat Poäng

 8

 104
 K102
 1097532
 D8

 EKkn7
 ED75
 6
 E1052

 D98632
 983
 8
 K76

 5
 kn64
 EKDkn4
 kn943

         N
 NS
 ÖV

 12  10  11  8  11
 1  3  2  5  2

 6   N 920

A 1 1 201 6N N = 6 990       50 -50
A 2 2 202 6 N = 7 920       43 -43
A 3 3 203 7 S -4 2 -200 -66 66
B 1 101 301 3N N +3 6 490       -5 5
B 2 102 302 3N N +1 6 430       -11 11
B 3 103 303 3N N +1 2 430       -11 11



Trosa BS

2023-10-11  DM kval Trosa - 1:1 IAF
6 bord, 12 par. Antal brickor: 12. IMP över fältet.

Bord Par Kontr Ut Resultat Poäng

 9

 Kkn6
 86
 kn1062
 Kkn98

 8742
 EDkn4
 E98
 ED

 ED3
 K105
 543
 10732

 1095
 9732
 KD7
 654

         N
 NS
 ÖV

 6  7  9  8  8
 7  6  4  5  5

 3   N 140

A 1 1 201 1N N +1 5 120       1 -1
A 2 2 202 1N N +1 2 120       1 -1
A 3 3 203 1N N +1 5 120       1 -1
B 1 101 301 1N N = 4 90       -5 5
B 2 102 302 1N N +1 7 120       1 -1
B 3 103 303 1N N +1 10 120       1 -1

Bord Par Kontr Ut Resultat Poäng

 10

 82
 kn9653
 EK85
 E7

 E10976543
 K4
 64
 3

 K
 ED82
 93
 KD10982

 Dkn
 107
 Dkn1072
 kn654

         N
 NS
 ÖV

 0  3  0  7  0
 12  9  12  5  11

 6  x S -1400

A 1 1 201 4 V +3 3 -710 -16 16
A 2 2 202 4 N -1 K -100 57 -57
A 3 3 203 4 V +2 E -680 -10 10
B 1 101 301 4 V +1 E -650 -5 5
B 2 102 302 4 V +3 3 -710 -16 16
B 3 103 303 4 V +2 E -680 -10 10

Bord Par Kontr Ut Resultat Poäng

 11

 86
 104
 E10952
 K742

 kn743
 Dkn8
 763
 1095

 K105
 EK532
 K
 Ekn63

 ED92
 976
 Dkn84
 D8

         N
 NS
 Ö
 V

 2  3  3  4  3
 11  10  10  8  9
 :  9  :  7  :

 4   V -420

A 1 1 201 3 Ö +2 E -200 -18 18
A 2 2 202 4 Ö -1 D 50       21 -21
A 3 3 203 2 S -2 4 -100 -1 1
B 1 101 301 2 Ö +3 2 -150 -9 9
B 2 102 302 1 Ö +3 D -170 -14 14
B 3 103 303 3N V -1 3 50       21 -21

Bord Par Kontr Ut Resultat Poäng

 12

 98
 843
 E863
 E732

 D64
 Ekn96
 Kkn92
 kn4

 Kkn5
 107
 1074
 KD1095

 E10732
 KD52
 D5
 86

         N
 NS
 ÖV

 5  7  9  9  6
 8  6  4  4  6

 3   N 140

A 1 1 201 3 S = 3 140       -4 4
A 2 2 202 4 S = E 620       52 -52
A 3 3 203 3 N = E 140       -4 4
B 1 101 301 4 N -1 K -100 -36 36
B 2 102 302 3 S = E 140       -4 4
B 3 103 303 2 S +1 E 140       -4 4


